Tie-Breaker Problem

EI’S TELEPHONE NUMBER

1. The sum of the seven
digits in the telephone
number is 26.

2. The first and last
digits are the same.

3. The second and the
fourth digits are the
same.

4. The product of the first
and the last digits is
the sixth digit.

%% 5. The sum of the third
and fourth digits is
equal to the fifth digit.

> 6. The sum of the first
two digits is equal to
the third digit.

What is Pi's number?

When you have solved this problem, have your room monitor to text your answer
and your team name to 706-392-0528.



